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NEW QUESTION 1
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalancelmportTemplate.xlsm

B. InventoryReservationimportTemplate.xlsm
C. InventoryTransactionimportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 2

You set up an item organization and an inventory organization as part of your customer’s requirement. Your customer has, by mistake, performed a receipt
transaction in the item organization instead of the

inventory organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.

B. Perform a return of item and receive the item again in the correct organization.

C. Itis not possible to receive item in the item organization.

D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect any other operation.

Answer: C

NEW QUESTION 3
Which two statements are true in regard to using the Enterprise Structures Configuration? (Choose two.)

A. It recommends job and position structures.

B. It allows you to create your Enterprise, Business Units, and Warehouses in a single step.
C. You cannot modify the recommendation from the too

D. You must do it after you perform the initial configuration.

E. The guided interview-based process helps you set up the enterprise with best practices.
F. It creates the chart of accounts.

Answer: BD

NEW QUESTION 4

A user is performing a material return transaction against access stock in an Inventory organization; however, the user fails to select the Physical Material Return
Required check box.

What happens?

A. ltis considered as accounting-only return.
B. Stock is reserved.

C. A transfer order line remains open.

D. Shipment lines are created.

Answer: A

NEW QUESTION 5
Which two tasks must be defined to a set up the Facilities Schedule? (Choose two.)

A. Manage Facility Workday Patterns
B. Manage Facility Operations

C. Manage Facility Holidays

D. Manage Facility Time Cards

E. Manage Facility Shifts

Answer: AE

NEW QUESTION 6
The physical inventory process is carried out for a particular inventory organization with the following parameters:

> Negative quantity Tolerance Percentage is set to 10%
> Approval Type = ‘Always’
The system says that there are 100 on band, but you only counted 95. What will happen?

A. The setup is invalid; it will give an error message.

B. Because the 95 is within the 10% tolerance, it will post without approval.
C. The system will ask a user to recount before posting.

D. An approval will be required before posting.

Answer: B

NEW QUESTION 7
How can you inject a target web service into an EJB?
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A. Define service as an injectable resource by using the <resource-ref> declaration.
B. Use a HandlerChain.

C. Use a java.xml.ws.WebServiceRef annotation.

D. Use a java.xml.ws.WebServiceContext annotation.

Answer: A

NEW QUESTION 8

Given:
1: TStateless
2: public class AlarmManager {
3 TResouirce
4: private TimerService timerService;
2: public void createAlarm(Date alarmDate) {
6: Alarm myAlarm = new Alarm();
7 TimerConfig config = new TimerConftig();
8: config.setinfo(myAlarm.getId());
9.
10: 1
11: ETimeout
12: public void handleTimeout({Timer myTimer) {
13: int alarmlId = {int)myTimer.hetInfo();
14: show AlarmMessage({alarmId);
15: 1
16: 1

You are creating an Alarm management system. When you create a new alarm, you want it to create an alert that is triggered once at the specified time.
Which method should you call on Line 9 to create the timer?

A. timerService.createCalendarTimer(alarmDate, config);

B. timerService.createSingleActionTimer(alarmDate, config);
C. timerService.createlntervalTimer(alarmDate, -1, config);
D. timerService.createTimer(alarmDate, -I, config);

Answer: D

NEW QUESTION 9
Given:
TPath("Employees")
@Produces({MediaType. APPLICATION_JSON]})
public class EmployeesResource {
@Inject
private EmployeeManager emy;
mGET
public List<Employee> find All() {
return em.find AllEmployees();

}

What will be the response to a HEAD request?

A. The findAll() method will be called and the employee list will be returned.
B. The findAll() method will be called and no employees will be returned.
C. No method will be invoked and no error will be returned.

D. No method will be invoked and a 404 error will be returned.

Answer: C

NEW QUESTION 10
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count

B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count

E. Blind Inventory Count

Answer: D
NEW QUESTION 10
Your client is about to define their primary ledger.

Which set of three primary attributes do they need to know in order to complete this?

A. Chart of Accounts, Description, and Accounting Method
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B. Chart of Accounts, Ledger Balance, and Accounting Method
C. Chart of Accounts, Accounting Calendar, and Currency
D. Currency, Description, and Accounting Method

Answer: C

NEW QUESTION 15

Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization level with a default subinventory.

ltem: A, Min Qty: 25, Max Qty: 150 and Current Level: 20

The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the minimum required level. This should trigger a

Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.

B. No value has been set for the “Min-Max Replenishment Reorder Approval” profile.

C. Min-Max planning can be performed at the Organization level.
D. Rounding the Reorder Quantity is disabled.

E. Item is not defined in Manage Item Subinventories.

Answer: E

NEW QUESTION 17

Which statement is true about the WS-Security standard?

A. Itis a Java EE standard for protecting SOAP services.

B. It relies on HTTP security mechanism to protect SOAP messages in transmit.

C. It provides message-level security.
D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 19

Which two approaches would result in the current date being added to the output of a JSP? (Choose two.)

A. <%= out.printin(new java.util.Date()) %>

B. <% out.printin(new java.util.Date()); %>

C. <%= new java.util.Date() %>

D. <% System.out.printin(new java.util.Date()); %>

Answer: AC

NEW QUESTION 24

When handling a JSF request, your application code decided to redirect the call to another URL by using HTTP redirect. Which action should you take to correctly

complete the handling of the JSF life cycle?

A. Set the immediate="true” attribute on the command button that was used to perform this call.

B. Invoke the dispatch() method on the ExternalContext object.

C. Invoke the setCurrentPhaseld(RENDER_RESPONSE) method on the FacesContext object.
D. Invoke the responseComplete() method on the FacesContext object.

Answer: C

NEW QUESTION 28
Given the code sample:

public interface GenericMessenger (
public void handleMessage(Message msg) { }

And:

@Default
public class MsgHandler implements GenericMessenger (
public void handleMessage(Message msg) { }
|
And:
T Alternative
public class SmsHandler implements GenericMessenger (
public void handleMessage(Message msg) { }
|
And the next fragment from beans.xml:
<alternatives>
<class>com.acme.SmsHandler< /class=>
</ alternatives>

And this injection point:
@Inject GenericMessenger messageHandler;
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Which type would be injected at run time and referenced by the messageHandler variable?

A. SmsHandler

B. MsgHandler

C. None of the abov

D. An exception would be thrown due to ambiguous bean references.
E. GenericMessenger

Answer: D

NEW QUESTION 32
Given a JSL document describing a batch job:
<job id="ProductLoadJob"
xmlns=http:/ /xmlns.jcp.org/ xml/ ns/javaee version="1.0">
<step id="ProcessProduct">
<chunk item-count="10">
<reader ref="ProductReader" />
<processor ref="ProductProcessor"/ >
<writer ref="ProductWriter" />
</ chunk:>
</step>
</job=

How do you initiate a batch job?

A. Get the JobExecution object from BatchRuntime and call its start() method.

B. Get the JobExecution object from BatchRuntime and set its status to JobStatus.INITIATED.
C. Get the JobOperator object from BatchRuntime and call its start() method.

D. Call BatchRunTime.initialize(“ProductLoadJob”);

Answer: A

NEW QUESTION 33
Which URL represents an invalid approach to pass a parameter to a REST resource?

A. <base-url>/Employees?value=1
B. <base-url>/Employees&value=1
C. <base-url>/Employees/1

D. <base-url>/Employees;value=1

Answer: D

NEW QUESTION 36
Which statement is false about generating an Internal Material Transfer for expense destination Transfer Order?

A. Expense destination transfers are expensed upon delivery hitting an expense account instead of an inventory asset account as would be the case for inventory
destination transfers.

B. If the receipt is not required Cost Accounting will pick up both the issue and receipt activity from the single inventory transaction “Transfer Order Issue”

C. If the receipt is required, the accounting of the receipt delivery transaction will happen only on Receipt Accounting because there will not be a delivery
transaction in inventory.

D. Costs for Lot and serial numbers are tracked at put away time when the items are recorded in a destination inventory location.

E. Cost Management will pick up the delivery transaction directly from Receiving and process the expense accounting from that transaction.

Answer: D

NEW QUESTION 40
How do you specify a default error page in your web.xml file?

A. <on-error><location>/general-error.htmli<location></on-error>

B. <error-page><error-code>*</error-code><location>/general-error.html</location></error-page>
C. <on-error><error-code>*</error-code><location>/general-error.html</location></on-error>

D. <error-page><location>/general-error.html</location></error-page>

Answer: B

NEW QUESTION 45
Your customer wants to prevent customer shipments out of a specific subventory. They are setting up a material status to control this.
Which transaction do they need to disallow?

A. Sales Order Pick

B. Sales Order Issue

C. Ship Confirm

D. Miscellaneous Issue

E. Move Request Putaway.

Answer: B
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NEW QUESTION 46
Given the code fragment:

@Path ("Employees")
public class EmployeesResource (
TInject privace EmployeeManager em;
TGet
@Path("[id:[A-Z] [0-9]+}")
public Employee getEmployee(@PathParam("id") String id) {
return em.findEmployee(id);
)
]

Which URL triggers the invocation of the getEmployee () method?

A. <base url>/Employees/89724
B. <base url>/Employees/J6349
C. <base url>/Employees/id:a7280
D. <base url>/Employees/id/J6349

Answer: B

NEW QUESTION 50
You are in the process of analyzing the demand and supply schedules for the item based on high level reservations.

A. On Hand

B. Movement Request
C. Requisition

D. Transfer Order

E. Work Order

F. Account Alias

Answer: D

NEW QUESTION 51

Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and the transfer order is created though the
FBDI process.

What is the primary interface data that needs to be completed in the template?

A. CST_I_INCOMING_TXN_COSTS

B. INV_SUBINVENTORY_TRANSFER

C. INV_TRANSACTION_LOTS_INTERFACE
D. INV_SERIAL_NUMBERS_INTERFACE
E. INV_TRANSACTIONS_INTERFACE

Answer: E

NEW QUESTION 56
Given the following code:
TWebServlet(urlPatterns = {"/myServlet}, asyncSupported=true}
public class NonBlockingServlet extends HttpServlet{
protected void processRequest (HttpServletRequest req,
HttpServletResponse res)
throws ServletException, IOException {
AsyncContext ac = req.startAsync();

// line 1

}

What should you do at line 1 to enable this servlet receive request data without blocking?

A. Use a Runnable instance with the start () method of AsyncContext.

B. Define a ReadListener and assign it to the request input stream.

C. Create a Callable class and delegate this operation to a ManagedExecutorService by using the dispatch method of AsyncContext.
D. Define an AsyncListener and assign it to the AsyncContext object.

Answer: D

NEW QUESTION 60

A shipment has not yet been created for a pick that you are running. How is the due date calculated?
A. request date from the order line

B. schedule ship date from the order line

C. promise date from the order line
D. system date
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E. earliest acceptable date from the order line

Answer: B

NEW QUESTION 64

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs). While trying to set up Cost Organizations for
each of these Legal Entities you were unable to perform the mandatory step of assigning the Profit Center Business Unit for one set of eight Inventory
Organizations; however, you could do it for the other set.

What is the reason for this?

A. The Legal Entity Setup is incomplete.

B. There is no Inventory Validation Organization defined.

C. The General Ledger is not associated with Business Unit.
D. The Business Unit is not enabled for Costing.

E. There is no Business Unit associated with the Legal Entity.

Answer: E

NEW QUESTION 65
You face a supply request exception due to some reason. You realize that you need to make some changes to the Manage Supply Request Exceptions page.
Which action will you perform?

A. The supply request cannot be update

B. The only way is to resolve the error in the source application and resubmit the request.
C. The supply request can be updated using a third-party application only.

D. Update the supply request and submit i

E. The errors will be resolved automatically.

F. Update the supply request and make sure errors are resolved before resubmitting it.

Answer: A

NEW QUESTION 70

Given the JPQL code fragment:

Select pub.title, pub.author, pub.pages FROM Publisher pub

Which two clauses do you add to this JPQL query to retrieve only those books with between 500 and 750 total pages? (Choose two.)

A. WHERE MIN(pages) >= 500 AND MAX(pages) <= 750
B. WHERE pub.pages <= 500 OR pub.pages >= 750

C. WHERE pub.pages BETWEEN 500 AND 750

D. WHERE pub.pages <= 500 AND pub.pages >=750

Answer: AB

NEW QUESTION 72
Given the code fragment:

Account.java:

public class Acount {
private int accld = 12345;
/[ getters and setters

Customer.java:

public class Customer {
private Account ace; //line 1
public void setAcc(Account acc) // line 2
[ this.acc=acc; }
public Account getAcc() // line 3
[ return acc; }

And
index.xhtml:

<h:outputText value = "The Id is #{customer.acc.accld)"/ >
Which two steps, when performed independently, enable the index.xhtml page to print the following text: The Id is 12345? (Choose two.)

A. Replace line 2 with: @Inject public void setAcc(Account acc)
B. Replace line 3 with: @Inject public Account getAcc()

C. Replace line 1 with: @Inject private Account acc;

D. Replace line 3 with: public @Inject Account getAcc()

E. Replace line 1 with: private @Inject Account acc;

F. Replace line 2 with: public void setAcc(@Inject Account acc)
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Answer: DF

NEW QUESTION 77
Which three replenishment count types are used for Periodic Automated Replenishment (PAR)?

A. Order Economic Quantity (EQQ): Generates a replenishment request for the calculated quantities based on inventory policies to maintain the PAR quantity.

B. Reorder Point: Generates a replenishment request for the order quantity based on days of cover for the item lead time.
C. Order Quantity: Generates a replenishment request for the order quantity entered for the replenishment count.

D. Order RAR: Generates a replenishment requisition for the RAR-level quantity.

E. On-hand Quantity: Generates a replenishment requisition for the difference between the on-hand quantity and the RAR-level.

Answer: CDE

NEW QUESTION 80
Given the code fragment:
protected void service(HttpServletRequest req, HttpServletResponse res)

throws ServletException, IOException {
PrintWriter out = res.getWriter();
cut.print("Service() method called.");

protected void doGet{HttpServletRequest req, HttpServletResponse res)
throws ServletException, IOException {
PrintWriter out = res.getWriter();
out.print("Get() method called.");
What output will be returned when this servlet is called a GET request?

A. Service() method called.

B. Service() method called.Get() method called.
C. An HTTP error

D. GET() method called.

Answer: A

NEW QUESTION 85
Given:

public class SomeClass {
TResource (name="java:comp/env,/ concurrent/ TaskExecutor")
ManagedExecutorService mes;
public void createTask() {
Future<Integer> result=
mes.sibmit(new MyCallable<Integer=());

}

How often does the submitted task run?

A. need more details to determine
B. once

C. as many times as you like

D. based on a schedule

Answer: A

NEW QUESTION 86
Which three applications originate a buy request that is received by supply chain orchestration?

A. Purchasing

B. Inventory

C. Order Management

D. Planning

E. Self Service Procurement
F. Accounts Payable

Answer: BCD

NEW QUESTION 91

Which statement is true about the relationship between HTTP and WebSockets?

A. A WebSocket connection is a bi-directional HTTP session with message-handling support.
B. A WebSocket connection is initialized with an HTTP handshake.

C. A WebSocket connection can be initialized by either client or server.

D. A WebSocket connection uses HTTP protocol to exchange data with the browser.

Answer: D
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NEW QUESTION 92
Given:

public class AppException extends Exception {}

TStateless
public class CustomerService {
@TransactionAttribute(Transaction AttributeType REQUIRED)
public boolean addCustomer(int id, String name throws AppException {
/ /assutne database insert operation succeeds
Customer ¢ = insertIntoDB(id, name);
if(id < 20) {
throw new AppException();

}

If an exception is thrown inside the if block, what effect will it have on the transaction?

A. The transaction will be committed.
B. The transaction will be suspended.
C. The transaction will be rolled back.

Answer: C

NEW QUESTION 95
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction

B. Obligatory Jurisdiction

C. Local Jurisdiction

D. Income Tax Jurisdiction

E. Transaction Tax Jurisdiction
F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 100
You want to allow one set of roles to POST to a resource and another set of roles to GET it. Which two configuration options should you use? (Choose two.)

A. two separate @HttpMethodConstraints annotations and sets of roles

B. a single @HttpMethodContstraint annotation and a map of method to roles

C. two <web-resource-collection> with different <http-method> in the deployment descriptor

D. a single <web-resource-collection> with two <auth-constraint> with different <http-method> in the deployment descriptor

Answer: BD

NEW QUESTION 101

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you to define an Inventory Organization that is
associated with all the business units and not just one particular business unit.

How do you achieve this?

A. Define the Inventory Organization without associating it with any location.

B. Leave the Management Business Unit field blank in the Inventory Organization definition.

C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition.

D. It is not possible to define an Inventory Organization that is associated with more than one business unit.

Answer: D

NEW QUESTION 106

You created two filters for your web application by using the @WebFilter annotation, one for authorization and the other for narrowing results by the provided
search criteria. The authorization filter must be invoked first.

How can you specify this?

A. setting the priority attribute of the @WebFilter annotation for each of the filters

B. placing the filter mapping elements in the required order in the web.xml deployment descriptor
C. placing @WebFilterMapping annotations in the required order

D. specifying the filter precedence order by using the @Priority annotation

Answer: A

NEW QUESTION 107

You are building the User Preferences page of an application. A user can change values, such as his or her name, password, address, company, and so on.
These values are sent to a CDI backing bean via AJAX when the user tabs out of each field. However, the values must be retained in the CDI bean and stored in
the database only when the user clicks the Save button.

Which two scopes will allow your CDI bean to retain its state while the user is interacting with the User Preferences page? (Choose two.)
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A. Dependent
B. View

C. Session

D. Request
E. Application

Answer: CD

NEW QUESTION 108
Your class requires multiple resources defined, as shown in the following:
=000 (|
@Resource(name="aFactory",
type="javax.jms.ConnectionFactory"),
TResource(name="aSession',
type="javax.mail.Session">
})

Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing <XXXX> in the code above?

A. @Resources

B. @Resource

C. @ResourceGroup

D. @ResourceCollection

Answer: B

NEW QUESTION 109
You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you can receive partial messages. (Choose
two.)

A. Define an @OnMessage method with a single MimePart parameter.

B. Use a ChunkListener interface implementation.

C. Use a MessageHandler.Partial<ByteBuffer> interface implementation.

D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter.

Answer: CD

NEW QUESTION 112
Which is a valid description of REST?

A. REST provides the same architectural properties as SOAP.

B. REST is a library that is part of JEE called JAX-RS.

C. REST is the conventional way of interacting with information resources.
D. REST is a Web Services standard supported by JEE and JAX-RS.

Answer: D

NEW QUESTION 113
Which annotation allows a request to be executed with another Principal’s identity?

A. It is not possible to execute a request with another Principal’s identity.
B. @Useldentity

C. @RolesAllowed

D. @Runs

Answer: C

NEW QUESTION 118
You are working with IMS publish-subscribe operations.
What happens when a producer publishes a message to a topic for which a durable subscription exists but there are no subscribers available?

A. The publisher waits for a subscriber, who then consumes i

B. However, the publisher will time out if no consumer arrives within the given timeout period.

C. The publisher sends the messag

D. However, it is never consumed because there wasn't anything listening when it arrived, regardless of the message timeout length.

E. The publisher successfully sends a message, which will be consumed later, once there is a subscriber, assuming the message hasn't timed out.
F. The message publisher is immediately notified about the lack of subscribers and can decide for itself if, and when, to resend.

Answer: C

NEW QUESTION 123

A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled once a year. This equipment is charged based
on its consumption without a project dependency.

At this point, it should be transferred out of the vendor’s warehouse for maintenance and then returned back in the future depending upon the requirement.

The material stock transfer should happen with an offline approval and with an account alias as a logical reference.
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What is the ideal way to handle this process?

A. Transfer Order

B. Requisitions

C. Move Request

D. Miscellaneous Transaction
E. Subinventory Transfer

Answer: D

NEW QUESTION 124

The Applications Development Framework Desktop Integration (ADFdi) user interface is supported in Oracle Fusion Receiving, Inventory Management, and
Shipping products.

Identify four ADFdi user interfaces that are supported.

A. Upload ASN or ASBN

B. Manage Lot/Serial Interface

C. Manage Inventory Transaction Correction in Spreadsheet
D. Review Receipts Interface

E. Review Count Interface Records

F. Manage Shipment Message Interface

Answer: BCDF

NEW QUESTION 126
Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer, you come to know that they have a business that
spans across multiple locations and they have warehouse situated across USA and Canada.

o All their procurement, payables, and distribution activities take place from USA.

o They have a central warehouse in USA and after the goods are delivered to this warehouse, they are distributed across multiple additional warehouses. The
warehouses are managed separately from the requisitioning units.

o For requesting material they have two units. One located in USA that monitors the current stock. They are responsible for creating requisition for any material
shortage in USA. They have another location in Canada for requesting material.
Which setup fulfills this scenario?

A. BU1: USA - as procurement and requisitioning Business Unit (BU)BU2: Canada - as requisitioning Business UnitDefine Service provider relationship where
Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.

B. BUL: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.

C. BUL: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.

D. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for both Canada and USA requisitioning Business Units.

Answer: A

NEW QUESTION 131

While performing the task “Create Chart of Accounts, Ledger, Legal Entities, and Business Units in Spreadsheet Task”, you mentioned that the legal entity country
is the United States of America.

What will be the functional currency of the ledger you are defining?

A. The system will ask the user to provide functional currency at the time of uploading the spreadsheet if it is not provided in the first place.
B. The system will automatically pick “USD” as functional currency from the legal entity country.

C. The system will pock the first available currency from the list of Values.

D. It is mandatory to provide functional currency, because ledger cannot be defined without functional currenc

E. The system will throw an error upon processing.

F. It is mandatory to provide functional currency because ledger cannot be defined without functional currenc

G. The system will throw an error upon upload of the spreadsheet because all required fields are not populated.

Answer: B

NEW QUESTION 135
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